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ob int(lO).ob_type -> Pylnt Type

PyInt Type.ob type —> Pylype Type

Pylnt Type.tp base —> PyBaseObgject Type
PyBaseObject Type.ob type —> Pylype Type
Pylype Type.ob type —> Pylype Type

EREIEZ S RS T 262 TUA] -




Wof G — 7NEEERT 52

#ifndef NSMALLNEGINTS
Zdefine NSMALLNEGINTS 5
Hendif

if (-NSMALLNEGINTS <= ival && ival <
NSMALLPOSINTS) {
v = small ints|ival +
NSMALLNEGINTS | ;
Py INCREF (v) ;
}
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>>> g9 = 1000000
>>> b = 2000000
>>> id(a) == id(1000000)
False

>>> 1d(100000) == id(100000)
True
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>>> C =
>>>
>>> q =
id(a)
False
>>> g =
>>> b = 'def
>>> ¢ = 'abc
>>> id(a)
True
>>> b =
>>> id(b[1]
True

>>=

"abc
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id(c)

id(c)

"abcde’

SO ¥

'qazwsxedcrfvt'
c += 'gbyhnugmikolp’
"qazwsxedcrfvtgbyhnugmikolp'

id(c|1])
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for e in seqn: dle] = d.get(e,0) + 1
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>>> def outer(ol, 02):
def inner (i1 = 10, i2 = |]):
return il+ol+o2
return inner

>>> gl = outer (50, 30)

>>> a2 = outer (50, 30)

>>> g].func closure

(<cell at 0xb75454f4: int object at 0x8455ddc>, <cell at
Oxb7545524: int object at 0x8455cec>)

>>> aZ2.func closure

(<cell at 0xb754541c: int object at 0x8455ddc>, <cell at
Oxb75453a4: int object at 0x8455cec>)
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>>> al.func_defaults

(10, LD
>>> aZ.func_defaults
(10, [D)

>>> al.func_defaults[1].append(10)
>>> al.func defaults

(10, [10])
>>> aZ.func_defaults
(10, [

WA AR BRI G 2 ] -
>>> def default test(d = |]):
print d

>>> default test.func defaults

(L])

>>> default_test.func_defaults|[0].append(10)

>>> default test()

[10]
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>>> def f(a,b,c,d): return a,b,c,d

>>> £(1,2,3,4)

(1, 2, 3, 4)

>>> £(1,2,a=3,b=4)

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

TypeError: f() got multiple values for keyword argument 'a'

>>> £(1,2,c=3,d=4)

(1, 2, 3, 4)
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>>> def f1():
def f2(): return i
i = 10
return 12

>>> g = fl()
>>> g ()
10
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>>> def f1():
def £2():
return inet _aton
from socket import *
return 12

<stdin>:1: SyntaxWarning: import * only allowed at module
level

File "<stdin>", line 4
SyntaxError: import * is not allowed in function 'f1'
because it is contains a nested function with free
varlables
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>>> class A(object) :

def f(self): print 'A'
>>> class B(object) :

def f(self): print 'B'
>>> class C(A):

def f(self): print 'C'
>>> class D(C, B):
. def f(self): super(D,
self).f()
>>> d = D()
>>> d.1()
C
>>> . base
<class ' main_ .C'>
>>> . bases
(<class ' main .C'>, <class

__main_ .B'>)

>>> class A(object) :
def f(self): print 'A’

>>> class B(object) :
def g(self): print 'B'

>>> class C(A, B):

. def f(self): super(C,
self).g()
>>> ¢ = C()

>>> c.f ()

B

>>> C. mro__

(<class ' main .C'>, <class

' main__ .A'>, <class

' main_ .B'>, <type 'object'>)
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instance = cls. new (Cls *args, **kargs)
cls. dinit (1nstance *args, **kargs)
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>>> class A(object) :
def f(self): pass

>>> g = A()

>>> g, class . dict |['f']
<function f at Oxb7595454>
>>> .1

<bound method A.f of < main .A object at
Oxb7oalebc>>

>>> a.f.im self

< main_.A obgect at Oxb75alebc>
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>>> class A(obJject) :
e def get (self, obj, cls): return 'A. get %s
%s %s' % (self, obj, cls)

>>> class B(obJject) :

v = AQ
>>> b = B()
>>> hH.vy
"A. get < main_ .A object at Oxb75alcac> < main_.B
object at Oxb75alcec> <class ' main_ .B'>"
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